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20255 F NIBEROMIFEEICBET 5508 (2)
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BE#HH:2025408H01H
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4 A 58 64 78 8AH 91 108 | 118 [ 128 1A 28 3A
BIEIEH BGT | miesEE | 2EE [Ru@[E @R s [E 14
TR A5 (R HE: 12 (R) [#E:17(K)
HESH L mg/| 0.003 — — <0.0003 —
2T me/| RSN — — ND —
pi) mg/| 0.01 — — <0.005 —
) aNlied=FN mg/| 0.02 — — <0.005 —
iit% mg/| 0.01 — — <0.005 —
* 8K ER mg/| 0.0005 — — <0.0005 —
7 ILFEILIKER mg/| RSN — — ND —
Ik RUIBIEETZ =)L mg/| RGN — — ND —
4% mg/| 0.01 — — <0.005 —
= CHO[AA Y mg/| 0.02 — — <0.002 —
migkxRE mg/| 0.002 — — <0.0002 —
1,2-9 003 mg/| 0.004 — — <0.0004 —
1,1-o900ITFLy mg/| R 0.1 — — <0.002 —
S[17SrRRTFLY me/l | 004 — — <0004 —
1,1,1-k)o0axT 2y mg/| 1 — — <0.0005 —
15 1,1,2-k) /00T 2 mg/| 0.006 — — <0.0006 —
K)yooTFLy mg/| 0.01 — — <0.002 —
= ThkoooOxTFLY> mg/| 0.01 — — <0.0005 —
1,3-UHronaRy mg/| 0.002 — — <0.0002 —
IR E mg/| 0.01 — — <0.001 —
ROy mg/| 0.003 — — <0.0005 —
FAR AT mg/| 0.02 — — <0.0005 —
F51 mg/| 0.006 — — <0.0005 —
B ERrvERBtER] mg/l 10 — — <1.2 —
oI FLy mg/| 0.002 — — <0.0002 —
1,4-OAF Y mg/| 0.05 — — <0.005 —
XERCEE mS/m [1E/EUE L 1398 1564 1598 1570
KIAXXLVRE pe-TEQ/I | 1E/&LLE 1 — — 0.15 —
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IR IG5  BERAMHER ST 12 TIHHER0S G (EER) _ _ _ _ _ _ _ _ _ _ _
47 5H 68 78 8H 91 108 | 118 [ 128 1A 28 38
BIEIEHE BAGD | mimsEE | HEE [gud[Eed@E sA[E 14
BA7T(R)|E:15(R) | 12(R) | 17(K)

ARE DL mg/| 0.003 — — <0.0003 —
ELTY mg/| BlEhENE — — ND —
£ mg/| 0.01 — — <0.005 —

Hh N lied=FN mg/| 0.02 — — <0.005 —
fiitF mg/| 0.01 — — <0.005 —

2y #akER mg/| 0.0005 — — <0.0005 —
T7ILEJLIKER mg/| BHtEhENCE — — ND —

kK RUEBIEETZ =)L mg/| RS ENCE — — ND —
4% mg/| 0.01 — — <0.005 —

=S ooOoOiray mg/| 0.02 — — <0.002 —
Paig 1k ik 3= mg/| 0.002 — — <0.0002 —

% 1,2-0900IT43y mg/| 0.004 — — <0.0004 —
11-2/00IFLY ma/l | @y [ 01 — — [<o002] —

= 12-o/08TFLY mg/| 0.04 — — <0.004 —
1,1,1-k)o0pxT Ry mg/| 1 — — <0.0005 —

15 1,1,2-k) 0Ty mg/| 0.006 — — <0.0006 —
K)oooTFLr mg/| 0.01 — — <0.002 —

= ThSoOOxIFLY mg/| 0.01 — — <0.0005 —
1,3-oyop7ary mg/| 0.002 — — <0.0002 —

IR E mg/| 0.01 — — <0.001 —
XD mg/| 0.003 — — <0.0005 —
FARU AT mg/| 0.02 — — <0.0005 —
Fo5. mg/| 0.006 — — <0.0005 —
RERMEERRCERBEEER]| me/l 10 — — 4.6 —
gaAaTFLy mg/| 0.002 — — <0.0002 —
14-OAF Y mg/| 0.05 — — <0.005 —

XEXCEE mS/m |1E/FLE L 1545 1383 1535 1224

KIAFTX I VRE pg-TEQ/I [1E/&LLE 1 — — 0.39 —
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